
Jig Saw
GST 680 | 3 601 EB4 080

Table of Content

Spare parts list........................................................................................................................................................................................... 2

Illustration - Type........................................................................................................................................................................................4

Subject to technical alterations. No liability is accepted for printing errors |2 October 2023 Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com



Jig Saw | GST 680 | 3 601 EB4 080 2

Spare parts list

Item Part Number Description Illustration Price Quantity Price Group

1 1 619 PB9 574 Motor Housing 1 - 1

2 1 619 PB9 609 Field        220-240V 1 - 1

3 1 619 PB9 610 Armature        220-240V 1 - 1

4 1 619 PB9 315 Switch 1 - 1

5 1 619 PB9 316 Power supply cord 1 - 1

6 1 619 PB9 317 Grommet 1 - 1

8 1 619 PB9 581 Nameplate 1 - 1

9 1 619 PB9 572 Sticker 1 - 1

10 1 619 PC0 576 Carbon Brush        220-240V 1 - 1

12 1 619 PB9 321 Capacitor        0.33µF 1 - 1

13 1 619 PB9 322 Ball Bearing        608-2RS 1 - 1

14 1 619 PB9 323 Ball Bearing        5×9×17 1 - 1

16 1 619 PB9 324 Brush Holder        5×9×17 1 - 1

17 1 619 PB9 325 Brush Holder        ST4.2×16 1 - 1

18 1 619 PB9 627 Pan head screw        ST4.2×16 1 - 10

21 1 619 PB9 327 Spring        f4.0 1 - 1

22 1 619 PB9 332 Pin 1 - 1

23 1 619 PB9 326 Pan head screw        M4×6,f10.5,8.8 1 - 1

24 1 619 PB9 328 Torsion Spring 1 - 1

25 1 619 PB9 616 Torsion Spring 1 - 1

26 1 619 PB9 329 Washer        f6.2×f12×1 1 - 1

30 1 619 PB9 634 Socket head cap screw        M3×12,8.8 1 - 2

31 1 619 PB9 334 Backup ring 1 - 1

32 1 619 PB9 614 Tapping Screw        ST4.2×30-F,8.8 1 - 1

33 1 619 PB9 615 Counter Weight 1 - 1

34 1 619 PB9 577 Sealing washer        f3.5X12 1 - 1

35 1 619 PC0 593 Gear 1 - 1

37 1 619 PB9 335 Tapping Screw        ST4.2×25,8.8 1 - 1

39 1 619 PB9 629 Plate        T=2.0MM 1 - 1

40 1 619 PB9 578 Felt        f3.5×12 1 - 1

41 1 619 PB9 639 Sealing Ring        8.5×18×1.8 1 - 1

42 1 619 PB9 576 Blade Holder 1 - 1

43 1 619 PB9 579 Speed governor        220-230V 50Hz 1 - 1

44 1 619 PB9 622 Bracket 1 - 1

45 1 619 PB9 348 Bracket        T=2.5MM 1 - 1

* Prices shown are suggested retail prices

Subject to technical alterations. No liability is accepted for printing errors |2 October 2023 Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com



Jig Saw | GST 680 | 3 601 EB4 080 3

Spare parts list

Item Part Number Description Illustration Price Quantity Price Group

46 1 619 PB9 349 Bushing 1 - 2

47 1 619 PB9 350 Socket head cap screw        M5×10,8.8 1 - 1

48 1 619 PB9 351 Bracket        T=3.4MM 1 - 1

49 1 619 PB9 352 Socket head cap screw        M5×16,8.8 1 - 1

50 1 619 PB9 364 O-Ring 1 - 4

52 1 619 PB9 355 Needle bearing        HK060913 1 - 1

53 1 619 PB9 356 Clip 1 - 1

54 1 619 PB9 357 Base Plate        T=2.5MM 1 - 1

56 1 619 PB9 359 Straight Pin        f4×22 1 - 1

57 1 619 PB9 365 Inductor        0.01~0.015mH 1 - 2

58 1 619 PB9 361 Offset Screwdriver        70×40 1 - 1

60 1 619 PB9 369 Covering hood        PC 1 - 1

61 1 619 PB9 594 Rubber 1 - 1

62 1 619 PB9 571 Splintering Protector 1 - 1

64 1 619 PC0 595 bushing 1 - 1

838 1 619 PB9 593 Center Bracket 1 - 1

851 1 619 PB9 592 Plate 1 - 1

* Prices shown are suggested retail prices

Subject to technical alterations. No liability is accepted for printing errors |2 October 2023 Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com



Jig Saw | GST 680 | 3 601 EB4 080 4

Illustration - Type - E

Subject to technical alterations. No liability is accepted for printing errors |2 October 2023 Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com


